A SPL
30 15
= N.S. =
_120 S M | B
Q N.S. £ £
1101 — Z10 Is
@ T T
2100 - % % 0 . 0
g 5 0.1
X i — 4l =
% g ! g
(@] 7 o,
% 80 - :Cr, 5 :Cr,O.OS 4
s = 1 N.S. 4
70 1 J 0 T 0
OVA - - 4 4
FOs - + T 3. £ 34
2, 2,
™ ™
e e
0 N.D. . N.D. 0
OVA - - OVA
FOS - + FOS
C SPL MLN PP
o 41.76 4.99 105:50.55 3.54 105:é 1.13 1.81
Control
105:51.17 2.13
FOS
Foxp3 o 102 10 1U5 0o 10 104 10
CD25
D SPL MLN
Control
w3113 1.87
FOS
CD69 o 102 103 104 1U5 o 1EI2 103 104 105 o 102 104 10
CD45RB

Supplementary Fig.1 Tsuda et al.
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